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QUESTION 1

Which two actions are required when enabling vFlash Read Cache for a virtual machine\\'s virtual disk? (Choose two.)
A. A value in the Virtual Flash Read Cache text box must be entered.

B. A Flash Resource Pool for Cache size reservation must be entered.

C. The Device backing and the block size must be configured.

D. The Enable virtual flash host swap cache check box must be selected.

Correct Answer: AD

To enable vFlash Read cache for VM virtual disk, enter a value in virtual flash read cache text box and

enable virtual flash host swap ache check box.

Reference: http://www.yellow-bricks.com/2013/08/26/introduction-to-vsphere-flash-read-cache-aka-vflash/

QUESTION 2

What are two possible causes of Storage Distributed Resource Scheduler (SDRS) being disabled on one or more virtual
machine disks in a datastore cluster? (Choose two.)

A. The virtual machine has vSphere Fault Tolerance disabled.
B. The virtual machine is a template.

C. The virtual machine swap file is on a shared datastore.

D. The disk is a CD-ROM/ISO file.

Correct Answer: BD

Possible causes of SDRS being disabled might be related to the fact that the virtual machine is a template or the disk is
a CD-ROM or an ISO file.

QUESTION 3

An administrator wants to add a web server to an existing multi-tier application consisting of three virtual machines: A
web server A database server An application server

The web server should be added to the application when the primary web server reaches: 70% vCPU utilization 55%
active memory

Which option will achieve this result?
A. Create a virtual machine alarm with an action to run a script that starts a new instance of the web server.

B. Create a host cpu and memory alarm with an action to run a script that starts a new instance of the webserver.
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C. Configure High Availability application monitoring for the web server and set it to trigger deployment of a new
instance of the web server.

D. Configure Fault Tolerance on the virtual machine and leave the secondary machine disabled until needed.
Correct Answer: A

You have to create a new VM alarm with an action to run a script that starts with a new instance of the web server.

QUESTION 4

An administrator is monitoring a fully automated vSphere cluster configured with HA, DRS, DPM and EVC. The
administrator notices that the cluster has a greater than expected load imbalance.

Why is this happening?

A. The DRS Migration Threshold is not aggressive enough.

B. The EVC baseline is masking too many CPU features.

C. The HA VM Restart Priority is set too high for several virtual machines.
D. The DPM Threshold is not aggressive enough.

Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-vSphere/5.5/com.vmware.vsphere.troubleshooting.doc/
GUID-0C132C85-E7BF-445E-925D-31420A06B01C.html

QUESTION 5

An administrator must determine an appropriate backup solution, given these conditions:

50 of the virtual machines are in a resource pool named Finance.

50 of the virtual machines are in a resource pool named QA.

Which solution allows an administrator the ability to backup 100 virtual machines?

A. Use Snapshot Manager on the vCenter Server to backup the virtual machines.

B. Use the VMware Consolidated Backup (vcb) tool on the ESXi Host to backup the virtual machines.

C. Use the VMware Data Recovery (VDR) Appliance on the vCenter Server to backup the virtual machines.
D. Use the VMware Data Protection (VDP) Appliance on one of the ESXi Hosts to backup the virtual machines.
Correct Answer: D

VDP supports these specifications:

Each vCenter Server can support up to 10 VDP appliances.

Latest 2V0-620 Dumps | 2V0-620 VCE Dumps | 2V0-620 Practice Test 3/4


https://www.geekcert.com/2v0-620.html
https://www.geekcert.com/2v0-620.html
https://www.geekcert.com/2v0-620.html

VCE & PDF https://lwww.geekcert.com/2v0-620.html
2024 Latest geekcert 2V0-620 PDF and VCE dumps Download
GeekCert.com

Each VDP appliance supports backup for up to 100 virtual machines.
Only 1 VDP appliance can exist per ESXi/ESX host.

Support for 0.5 TB, 1 TB, or 2 TB of deduplicated backup data.
Reference: https://kb.vmware.com/selfservice/microsites/search.do?

language=en_USandcmd=displayKCandexternalld=2016565
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